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Introduction

What’s the difference between extended family and nuclear family in economic terms? Why in society there are more nuclear families than extended families? From an economic term, what is the main causation for shift in extended family to nuclear family? We will try to answer those questions by a unified framework. The foundation of our topic is based on the “physical law”. 
The Basic Theory

The physical law emphasizes the total energy receives and the total energy output. When total energy receives is equal to the total energy output, it means sustainable. On the other hand, if consumption level is higher than production level, it means unsustainable. For example, in order for a living organism to produce energy in terms of heat, it first needs to capture foods for growth and maintenance. The rest of the energy will be transfer to heat. Again, in order for natural resources to be sustainable, the current consumption level needs to be equal to the nature’s regenerated level. If we use more than the regenerated level, soon or later, natural resources will be gone forever. The physical law also explains why some human society collapses. Some human society acquires expensive or high fixed cost system; however, the cost of maintaining such system is higher than their current income level. As a result, the society will have to collapse, because it’s unsustainable. We can also look at investing decision. If the cost of doing research is higher than the return from investment, we are unlikely to invest again. It’s the same if we always lose money on our investment; we are likely to stop investing. Since the physical law is simple and straightforward, we would like to apply it in a “sociological perspective”. There are so many possible reasons that cause the shift of extended family to nuclear family, such as, industrialization, urbanization, social mobility, population, geographical factors, and individual preferences. Which one is more strongly related? By physical law, we can understand that the shift is caused by inequality between energy receives and energy output. Physical law can provide a simpler way to understand the complex transformation.
Extended Family vs. Nuclear Family

Extended family is the basic unit and traditional family structure where adults, children, and kinship living in the same roof. Nuclear family is a flexible type of family structure where parents and their children living in the same roof. Nuclear family is more flexible, because it has smaller family size. For example, international adoption can greatly decrease a woman’s fixed cost in child-bearing. The non-biological parent can adopt the children at any age or at anytime they want. On the other hand, the extended family has a larger family size which requires more resources for survival. We agree that other explanations or factors are possible in understanding the shift. However, we believe that the Main cause of the shift is still the physical law. In this paper, our argument is based on the high fixed cost on housing. 
Why in society there are more nuclear families than extended families?

Housing could be the most expensive fixed cost in modern society. There are two possible scenarios. The first scenario illustrates an extended family in terms of size, house price, and house structure. In the extended family, there are 6 adults and 4 grand children. Within six adults, there are two grand parents and four adults. The four adults are the parents of the 4 grand children. The fixed cost for the house is $600,000. There are 8 rooms and 2 bathrooms in the entire house. In this scenario, the uncertainty should be low, so high fixed cost is effective in this environment. When the uncertainty is low, everyone is maintaining a good relationship among family member, the financial provider in family is satisfying their current employment, and children are obtaining their education locally. Since all family members share the ownership of the house with each other, family members will contribute payments to the mortgage. On the other hand, when uncertainty is high, family structure will not adjust quickly to response to the changing environment. For example, suddenly, one of the family members is required to relocate his position in another city. The family size will dramatically decrease as fixed cost unchanged. The rest of the family will contribute more on payments to the mortgage as some family members relocate themselves. As a result, there will be more empty rooms in the house. You may ask why extended family will incur such high fixed cost in stable environment. The answer is the duration, because duration tends to be longer in high fixed cost environment. For example, if the extended family decided to live together in Prince George for 30 years, they are likely to invest large capital in their house rather renting a house.

In the second scenario, we decide to split the extended family manually to three small nuclear families. This way, we can compare and contrast the shift from extended family to nuclear family. In scenario one, there are a total of 10 people in the family.  The nuclear family is operating in a high uncertainty environment. A low fixed cost is flexible at this environment. For example, most nuclear families have single ownership, so that they can relocate themselves anywhere they want. 
Ownership structure Implication to Extended Family and Nuclear Family

In single ownership structure, you can sell your house in a short notice. However, a shared ownership can’t sell the house immediately, because other family members are still living in that house. We also know that firms are operating by a single ownership is usually a small firm, and they don’t usually have much growth. In order to have growth, the firm requires more financial support, such as debt or equity. For example, a high-risky company tries to acquire a loan from the bank. Most of the time, the bank will refuse to lend money to the high-risk company due to its high default rate. The company will then try an alternative channel which is issuing shares from the public. When a firm issues share, their ownership structure will change. Instead of single ownership, the firm can be own by many owners. That’s why most big firms are owned by many people; whereas, small firms have single ownership. However, single ownerships are very flexible to high uncertainty. They can relocate themselves to other city if the small firm wants. We may ask again why nuclear families or small firms exist, because their duration is short. For example, if nuclear family decides to stay in Prince George for 2 years, they will not spend too much capital on their housing, because they may find better employment in Calgary or Vancouver. 

High fixed cost is very sensitive to environment than low fixed cost. If duration is long, home owners are likely to invest large amount of capital. On the other hand, if duration is short, home owner is less likely to invest large amount of capital. In conclusion, if the uncertainty is high, the time that people will live in the house will be short, and they are unlikely to invest too much capital on the house. The other way will be true. In today’s society, family members share the ownership of a house is very rare, so does extended family in our society now. In general, nuclear family dominates extended family on the flexibility of the structure. Although some places are mainly dominated by extended family, in worldwide basis, most people live in nuclear family. In the business world, we can also see that there are more small firms than large firms. In terms of housing ownership, there are more single ownerships than shared ownerships. That’s why in today’s environment, we see more nuclear families than extended family.
What is the main causation for shift in extended family to nuclear family?
Assumptions:

1. Large families need more resources to survive and they are highly affected by changing environment. 

2. Large families are usually complicated than small families, and they are difficult to change their internal components.
Carrier people are first nation which locates in Prince George Area. The Sustainability of their income level is based on fishing, hunting, and trapping. For example, large animals provided meat for maintenance, fur for clothing, and bone for tools. With high density of trees, small animals can survive. If small animal can survive, large animals can also survive. As a result, the survival all species are important, because their economy depends heavily on fishing, hunting, and trapping. With many people living together at high fixed cost, it’s important that they have enough large animals to maintain their basic survival. 

What kind of fixed cost? One of the fixed costs is their “long house”. Their long house requires several years to build, and it’s all handmade with splendid art crafts. Because it requires intensive labor and time, the fixed cost is also high. As in a stable environment, if the fixed cost is high, the duration of using the house will also be long. In another words, the higher fixed cost will need longer period to breakeven. What’s the sustainable life in the minds of First Nation? Sustainable life also means long duration. In order to maintain long durations, they must produce just the right for consumption. If consumption level is higher than what it originally can generate, the consumption level will be unsustainable. In addition, they must also avoid surplus in their expenditure. In terms of physical law, they are unlikely to acquire high fixed cost system, because they realize that their society will eventually collapse. Suppose, the environment is unstable due to animals migrating to other area or completely relocate to other First Nation territory. In unstable environment, their basic survival will suffer due to large family size living together, because they can’t gather enough food for everybody. However, the carrier people can’t immediately relocate themselves to other territory, because they already build their long house and establish their own territory. The cost of maintaining the system is high in this society, so people will eventually seek other opportunities to survive in other area or territory. As a result, people will split from the extended family to several smaller nuclear families. 
Kemano I Project
In 1949, Alcan was granted permission by the government to construct a hydro-electric damn on Nechako River. The purpose of the dam is to supply power for Alcan’s smelter in Kitimat. However, the design of the dam caused the flooding of 49,000 hectares in upper Nechako River as a reversed flow. The flooding removed about 75% of natural flow of the Nechako River, and damaged the salmon habitation which is the main source of income for Cheslatta people. Since the accident, the environment becomes unstable, so the relocation of the Cheslatta people is required, because the flooding affects their ability to earn living. Cheslatta Carrier people were affected drastically by flood from the dam, because they hunted, fished, and trapped in the area of Nechako River. In case of the Cheslatta people, they have enjoyed the stable environment of farming, hunting, fishing, and trapping on their land for centuries. When cost level is higher than income level, people in the village will eventually split into small families and relocate themselves into another self-sustainable territory or village.

Conclusion

From the physical law, it provides simple and straightforward explanations of shift from extended family to nuclear family. Nuclear family has a small size structure with low fixed cost. In high volatile environment, they are very flexible. Extended family has a large size structure with high fixed cost. In stable environment, they are very prospering. However, they can’t quickly adjust when environment changes. From extended family to nuclear family, we can see that fixed cost, uncertainty, and duration play an important role in explaining the shift. Since high fixed cost system requires large amount of energy input to maintain themselves, when energy input is no longer exist, the high fixed cost system will eventually collapse. In other words, the system was originally an asset, but it becomes a liabilities.
